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m fEBprogram
ClearAll["Global™ %"]

(*\YFORIEE[]1 T, KBIRIFFTRRTS+)
gbracket [x_List] := (+REE+AYFOEE. TOY5LDBREEICGood )
ReplacePart [x[2], x[1] [2] - Subscript ["[" <> ToString [x[2] Ix[11 120111 <>"1", x[1, 1711

(xRABFMTuringMachine [ ] DH A =outlCRMICHRNBIEIE. *)
posF[x_] := FirstPosition[x[All, 1, 1], F][1] -1

turing[out_] :=
Manipulate[
Block[ {now, tape, control, pos, state, contents, boxes},

now = out[step];

tape = now[2];

control = now[1];

pos = control[2];

state = control[1];

boxes = {Line[{{1, @}, {1, 2}}], Table[Line[{{i, @}, {i+1, @}, {i+1, 2}, {i, 2}}], {i, 1, Length[tape]}]};

contents = {Table[Text [Style[tape[[i]], Large], {i+ .5, 1}], {i, 1, Length[tape]}],
Green, Polygon[{{pos, -1}, {pos+1, -1}, {pos+1, -.5}, {pos + .5, @}, {pos, -.5}}1,
Black, Text [Style[state, Medium], {pos +©0.5, -©.7}]};

Graphics [ {boxes, contents}]], {step, 1, Length[out], 1}]
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In[3]

out[3}=

Import["https://mixedmoss.com/mathematica/turing/jpg/BB3.jpg"]
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rule = {{s, " "} - {2, X, +1}, {s, X} » {3, X, -1},
{2, X} » {2, X, +1}, {2, " "} » {s, X, -1}, {3, " "} = {2, X, -1}, {3, X} » {F, X, 0}};
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tape = {" ",
bb3 = TuringMachine[rule, {{s, 5}, tape}, 13];
gbracket /@%
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